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1. (a) “Financial management is more than.
- procurement of funds.” What do you think
are the responsibilities of a Finance
Manager ? 11
(®) “foo-uey fHfym & woor @ w2 R €
e foram # fae weees & o SeRaifaes £ 2
OR/areqan

{b) *A rupee of today is not equal to the rupee
of tomorrow.” Explain.

(c) A company is selling a debenture which
will provide annual interest payment of
Rs. 1200 for indefinite number of years.
Should the debenture be purchased if it is
being quoted in the market for Rs. 10,500
and the required rate of return is 12 percent ?
What will be your answer if the required

rate of return is 10 percent ? SVa+ SY2
(@) 3T &1 T 2 9T Fe & FYY & ST A&t
grawefe)

(M UF FuAr uiiad ot % faw 1200 . aifbs
S Y FHAeN - 99 ® E | 9 SR
# T@E 9 10,500 F. TN AW W@ ¥ SR
Wfawer =t omftd <X 12 wiawa &, @ w= oW
FOL-qF F GAZ o1 W ? Al uiawer
st <X 10 wiowE @, a9 suer SwoE
gm?

2.  (a) How is cash flow different from accounting
profit 7 Which one is better for capital
budgeting decisions 7 Why ?
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(b) From the following information find out
initial, subsequent annual and terminal cash

flows :
Cost of machine Rs. 5,25,000
Salvage value Rs. 30,000
Installation cost Rs. 5,000
Life 5 Years
Expected annual sales 10,000 units
Sale price per unit Rs. 40
Variable cost per unit  Rs. 16
Tax rate 50 percent S5Y2+ S
() TH g HEERO-oTY | 6T v R € 7
Uoft a1e Haet it & fem e ar e & ?
(@) Fefefad gor @ i, wadt afvs sk
I TS| TETE 3 HieTC
T ) AT 5,25,000 &.
e gy 30,000 %.
WA 5,000 .
St sy
TV A s 10,000 TS
fasrg shima i 3ord 40%.
et @ i g 165,
L FT 50 wferewT
OR/ oAt |
(c) A company is considering the following
investment projects :
Cash flows {Rs.)
Projects Year0 Yearl Year2 Year3
A - 10000 =+ 10000 - -
B - 10000 + 7500 + 7500 -
C -10000 + 2000 + 4000 + 12000
D - 10000 + 10000 + 3000 + 3000
3 P.T.O.



(1) Rank the projects according to
(1) Payback method and (ii) NPV
method assuming discount rate of 10
perceiit.

(2) Assuming that the projects are
mutually exclusive, which one should
be accepted ? 11

Note: The required table figures are

given at the end of the question

N paper.
(M uw FEE FEfeiEa Hew-aRaeet w far

WEE:
T TR (%)
g ado ag 1 g2 Td 3
A - 10000 + 10000 - - -
B "~ 10000 + 7500 + 7500 - -
C —-10000 + 2000 + 4000 + 12000
D - 10000 + 10000 + 3000 + 3000
(1) 10 wferer 22T X AR gu e st
(i) Payback womett 3¢ (ii) NPV woreit
% IER Hife Fuifa Fifs |
(2) I% AFd g€ 7 aREiem WER sves
¢, T W feraent T T =ty 2
Atz : arifew afernt iR wvmT & i | &y
mE |
3. (a) A firm has sales of Rs. 15,00,000 variable .
cost of Rs. 840,000 and fixed cost of
Rs. 1,20,000. It has a debt of Rs. 9,00,000
at 9 percent and equity of Rs. 11,00,000.
(i) What is the firm’s ROI (Return On
Investment) ?
(i) What are the operating and financial
leverage of the firm ?
(iii) If the sales drop to Rs. 9,00,000, what
will be the new EBIT ? Verify. 11

788 4



(@) e feumuit fefae
() It
(i) VP T
(Present value and Compounded value factors of
Rs. 1 and Annuity of Rs. 1)

RATE | pyup | CVF | PVAF | CVAF
10%

Yearl |0.909 |1.100 }0.909 | 1.000
Year2 |0.826 | 1.210 | 1.736 | 2.100
Year3 |0.751 | 1.331 |2.487 {3.310
Year4 |0.683 | 1.464 |3.170 | 4.641
Year5 [0.621 |1.611 |3.791 | 6.105
Year6 [0.564 | 1.772 | 4355 | 7.716
Year7 10513 | 1949 |4.868 | 9.487
Year 8 | 0.467 |2.144 ]5335 | 11.436
Year9 (0424 | 2358 {5759 |13.579
Year 10 | 0.386 | 2.594 {6.145 | 15.937

- {RATE | pyp | CVF | PVAF | CVAF
- 12%

Year1 | 0.893 | 1.120 | 0.893 | 1.000
Year2 10797 | 1.254 | 1.690 | 2.120
Year3 | 0.712 | 1.405 | 2.402 | 3.374
Year 4 0.636 |1.574 |3.037 {4.779
[Years 0567 | 1.762 | 3.605 | 6353
Year6 | 0.507 [1.974 |4.111 |8.115
Year7 | 0452 | 2211 |4.564 | 10.089
Year8 | 0404 | 2.476 |4.968 | 12.300
Year9 | 0361 | 2773 | 5.328 | 14.776
Year 10 ] 0.322 [3.106 | 5.650 | 17.549
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(M PQR Litd: % 100 . Wi ¥ & 3ifed ey w0
WA 20 & & | ToH FrAW R e 3¢ 25
Wi € 1 39 i et o defeor ) 125
v &+ 9fy FeeR-nies waE fea o 2,
G
(i) 3wea™ QUi T ST 0 8 7,

(i) 3 9ot s e = @ A o R
AR P A TR 7
(@ feedt St & o o @ Frafafas ge
o E
¥

S v et 5,00,000

12% am—.rw 5,00,000

10% =m 10,00,000

20 ,00,000
‘ Mﬁwﬁaﬁmﬁﬁaﬁaﬁmﬁmﬁaaﬁﬁq | FF
20 5. Wi AR (g = 0) AW A W 2, 0EH X 50

wicrere & P 100 . % VIE 1S geT 160 5. & )
5. (a) What is management of working capital ?
How isit-different from capital budgeting ?
State briefly the repercussions if a firm has
(i) Paucity of working capital (ii) Excess of

working capital. 11
() TR T % veEd @ R A & 2 @ O
w9 For @ & s s & 7 el o S am
(i) wEeT G0 T HE (i) FEvie Ger
e 8 % el 6t Jedy o FaRy |
i OR/srerEr
(b) Write short note on : S22+ 54

(1)  Credit policy and
(ii) Cash budget
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4. (a). What do you mean by stability of
dividends ? Why do firms follow a policy
of stable dividend ? '

(b) ~ What is cost of capital ? How is it important )
in financial decision making ? S+ 5%
(%) e = e § ey o wmEw 7w fw

(@) et AT @ o A & ? et A
& e § ?
OR/sraat
(c) The earning per share of the face value of ,
Rs. 100 of PQR Ltd. is Rs. 20. It has a rate
of return on investment of 25 percent.

Capitalisation rate of its risk class is 12.5
percent. If Walter’s model is used, '
(i) What would be the optimum payout
ratio ? '
(i) What should be the market price per
share if the payout ratio is zero ? ..

(d) The following information is available from
the balance sheet of a company :

: Rs.
Equity share capital 5,00,000
12% Preference Shares . 5,00,000
10% Debentures 10,00,000

_20,00,000
Determine weighted average cost of capital of the
company. It had been paying dividends at a rate
-of Rs. 20 per share (g = 0), income tax rate is 50
percent and the current price of Rs. 100 share is
Rs. 160. 52+ V2
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(b)

(@)

TE FH i Tl 15,00,000 5. &, afedt @me
8,40,000 . 37 X &7 1,20,000 5. & | 3w
W 9 T R 9,00,000 %. %07 & 3K 11,00,000
T W TR
(i) wHwiRTRIET TS ?
(i) & e SR it STuRE Qe A §
(iif) 3% foent ¥ BFX 9,00,000 . & =R &,

@9 7% EBIT sdR0 |

OR/uan

There are two companies ‘L Ltd.’ and ‘U
Ltd." which are identical in all respects
except in terms of their capital structure as
can be observed from the details given
below :

L Ltd. U Ltd.

-EBIT 1,00,000 . 1,00,000

12% debentures  5,00,000 - -

Ke 20 percent 16 percent
Calculate the values of two firms and
illustrate using MM approach how an
investor holding 10 percent shares of L Ltd.
will be benefitted by switching over his

investment from L Ltd. to U Ltd. 11

R HufTEr ‘L Lid” o ‘U Ltd.” 99 99R @
ey ¢, faara et it e 8§, i 99 R

¢ faaer @ S ST AT E

LLtd. . ULtd
EBIT 1,00,000 1,00,000
12% =91-95 5,00,000 -
Ke 20ufaeE 16 wava

Tt Wt w1 To uieierd ST | T, s
N STET F T TR 6 L Lid. w10
wlerere PRt e i L Lid, @ a0 Frew
1 U Ltd. & o1 5T Tehr owepr 21 |

5 : P.T.O.



